Rossignollet du bois

Denis Caignet

Rossignollet du bois,

qui chant’au vert bocage,
as tu pas ouy la voix
d’un garcon de village,

qui s’est voulu marier ?

Mais il n’entent pas 1’usage,

garcon de village,
comment il faut aymer.

Waldnachtigall,
die im griinen Wildchen singt,
hast du nicht die Stimme

eines Dorfburschen gehort,
der sich verheiraten wollte?
Aber er versteht nicht die Weise,
der Dorfbursche,

wie man lieben soll.

Spelling modernised in the text underlay.
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Nightingale of the woods,

that sings in

the green grove,

have you not heard the voice
of a village lad,
who wanted to get married?

But he doesn’t know the way,

the village lad,
how one should make love.
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